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Question Id : 92090628038 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

All over the world the wild fauna has been whittled down steadily and
remorselessly, and many lovely and interesting animals have been so reduced in
numbers that, without protection and help, they can never re-establish themselves. If
they cannot find sanctuary where they can live and breed undisturbed, their numbers
will dwindle until they join the dodo, the quagga. and the great auk on the long st of
extinct creatures.

Of course, in the last decade or so, much has been done for the protection of wild
life: sanctuaries and reserves have been started, and the reintroduction of species into
areas where it had become extinct is taking place. In Canada, for instance, beavers
are now being reintroduced into certain areas by means of aeroplane.

But although much is being done, there is still a very great deal to do.
Unfortunately, the majority of useful work in animal preservation has been done
mainly for animals which are of some economic importance to man and there are
many obscure species of no economic importance which, although they are protected
on paper, are in actual fact being allowed to die out because nobody, except a few
interested zoologists, considers them important enough to spend money on.

As mankind increases year by year, and as he spreads farther over the globe
burning and destroying, it is some small comfort to know that there are certain
private individuals and some institutions who consider that the work of trying to save
and give sanctuary to these harried animals is of some importance. It is important
for many reasons, but perhaps the best of them 1s this: man for all his genius, cannot
create a species, nor can he recreate one he has destroyed. So until we consider
animal life to be worthy of the consideration and reverence we bestow upon old books
and pictures and historic monuments, there will always be the animal refugee living
precarious life on the edge of extermination, dependent for existence on the charity of
a few human beings.

Read the passage and answer the following questions:

Sub questions

Question Number : 1 Question Id : 92090628039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What attitude towards wild life does the author think most appropriate?

(1) reverence (2) pity
(3)  sympathy (4) fear

Options :



920906110801. 1
920906110802. 2
920906110803. 3
920906110804. 4

Question Number : 2 Question Id : 92090628040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following animal species has been saved from extinction?

(1) dodo (2) quagga
(3) auk (4) beaver
Options :

920906110805. 1
920906110806. 2
920906110807. 3
920906110808. 4

Question Number : 3 Question Id : 92090628041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following would prove most effective in preserving wild life?

(1) Sanctuaries (2) Law against destruction of wild life
(3) More Zoos (4) Allocation of more funds
Options :

920906110809. 1
920906110810. 2
920906110811. 3
920906110812. 4

Question Number : 4 Question Id : 92090628042 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Animals species should be preserved mainly because:

(1) they are lovely creatures.
(2)  they are killed by cruel people.
(3)  zoologist want to study them.

(4) man cannot recreate a species of animals if it be destroyed.

Options :

920906110813. 1
920906110814. 2
920906110815. 3
920906110816. 4

Question Number : 5 Question Id : 92090628043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Certain species of wild life 1s about to become extinct mainly because:

(1)  they are killed by people callously.
(2)  sanctuaries are not maintained properly.
(3)  people are ignorant.

(4)  they cannot find a sanctuary where they can live and breed undisturbed.

Options :

920906110817. 1
920906110818. 2
920906110819. 3
920906110820. 4

Question Id : 92090628038 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



All over the world the wild fauna has been whittled down steadily and
remorselessly, and many lovely and interesting animals have been so reduced in
numbers that, without protection and help, they can never re-establish themselves. If
they cannot find sanctuary where they can live and breed undisturbed, their numbers
will dwindle until they join the dodo, the quagga. and the great auk on the long list of
extinct creatures.

Of course, in the last decade or s0, much has been done for the protection of wild
life: sanctuaries and reserves have been started, and the reintroduction of species into
areas where it had become extinet is taking place. In Canada, for instance, beavers
are now being reintroduced into certain areas by means of aeroplane.

But although much i1s being done, there 1s still a very great deal to do.
Unfortunately, the majority of useful work in animal preservation has been done
mainly for animals which are of some economic importance to man and there are
many obscure species of no economic importance which, although they are protected
on paper, are in actual fact being allowed to die out because nobody, except a few
interested zoologists, considers them important enough to spend money on.

As mankind increases year by vear, and as he spreads farther over the globe
burning and destroying, it is some small comfort to know that there are certain
private individuals and some institutions who consider that the work of trying to save
and give sanctuary to these harried animals is of some importance. It is important
for many reasons, but perhaps the best of them is this: man for all his genius, cannot
create a species, nor can he recreate one he has destroyed. So until we consider
animal life to be worthy of the consideration and reverence we bestow upon old books
and pictures and historic monuments, there will always be the animal refugee living
precarious life on the edge of extermination, dependent for existence on the charity of
a few human beings.

Read the passage and answer the following questions:

Sub questions

Question Number : 1 Question Id : 92090628039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What attitude towards wild life does the author think most appropriate?

(1) reverence (2) pity
(3) sympathy (4) fear
Options :

920906110801. 1
920906110802. 2
920906110803. 3
920906110804. 4



Question Number : 2 Question Id : 92090628040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following animal species has been saved from extinction?

(1) dodo (2) quagga
(3) auk {(4) beaver
Options :

920906110805. 1
920906110806. 2
920906110807. 3
920906110808. 4

Question Number : 3 Question Id : 92090628041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following would prove most effective in preserving wild life?

(1) Sanctuaries (2) Law against destruction of wild life
(3) More Zoos (4) Allocation of more funds
Options :

920906110809. 1
920906110810. 2
920906110811. 3
920906110812. 4

Question Number : 4 Question Id : 92090628042 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Animals species should be preserved mainly because:

(1)  they are lovely ereatures.
(2)  they are killed by cruel people.
(3) zoologist want to study them.

(4) man cannot recreate a species of animals if it be destroyed.

Options :
920906110813. 1



920906110814. 2
920906110815. 3
920906110816. 4

Question Number : 5 Question Id : 92090628043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Certain species of wild life is about to become extinct mainly because:

(1)  they are killed by people callously.

(2)  sanctuaries are not maintained properly.

(3) people are ignorant.

(4)  they cannot find a sanctuary where they can live and breed undisturbed.

Options :

920906110817. 1
920906110818. 2
920906110819. 3
920906110820. 4

Sub-Section Number : 2
Sub-Section Id : 920906899
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090628044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct proposition from the options given to make a meaningful
sentence.

The boys equally divided the chocolates themselves.

(1) between

(2) among

(3) with
(4) by
Options :

920906110821. 1
920906110822. 2
920906110823. 3



920906110824. 4

Question Number : 6 Question Id : 92090628044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct proposition from the options given to make a meaningful
sentence.

The boys equally divided the chocolates themselves.

(1) between

(2) among

(3) with
(4) by
Options :

920906110821. 1
920906110822. 2
920906110823. 3
920906110824. 4

Question Number : 7 Question Id : 92090628045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct form from verb to make a meaningful sentence.
Neither of the contestants to win.

(1) is able
(2) was able
(3) were able
(4)  has able

Options :

920906110825. 1
920906110826. 2
920906110827. 3
920906110828. 4

Question Number : 7 Question Id : 92090628045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct form from verb to make a meaningful sentence.
Neither of the contestants to win.

(1) is able
(2) was able
(3) were ahble
(4)  has able

Options :

920906110825. 1
920906110826. 2
920906110827. 3
920906110828. 4

Question Number : 8 Question Id : 92090628046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the correctly spelt word:

(1) emberrass (2) embarress
(3 embarass (4) embarrors
Options :

920906110829. 1
920906110830. 2
920906110831. 3
920906110832. 4

Question Number : 8 Question Id : 92090628046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the correctly spelt word:

(1) emberrass (2) embarress
(3) embarass (4) embarrors
Options :

920906110829. 1
920906110830. 2
920906110831. 3
920906110832. 4



Question Number : 9 Question Id : 92090628047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[dentify the meaning of the underlined idiom from the options given :-

Sunita is an apple of her father’s eve

(1) lovable (2) talkative
(3 uncontrollable (4) hated
Options :

920906110833. 1
920906110834. 2
920906110835. 3
920906110836. 4

Question Number : 9 Question Id : 92090628047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the meaning of the underlined idiom from the options given :-

Sunita 1s an apple of her father’s eve

(1) lovable (2) talkative
(3) uncontrollable (4) hated
Options :

920906110833. 1
920906110834. 2
920906110835. 3
920906110836. 4

Question Number : 10 Question Id : 92090628048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct form of indirect speech of the following sentence.
He said. “I have been reading since morning.”

(1) He said that he had been reading since morning.
(2)  He said that he has been reading since morning.
(3) He said that he is reading since morning.

(4) He said that he was reading since morning.

Options :

920906110837. 1
920906110838. 2
920906110839. 3
920906110840. 4

Question Number : 10 Question Id : 92090628048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct form of indirect speech of the following sentence.
He said, “I have been reading since morning.”

(1) He said that he had been reading since morning.
(2)  He said that he has been reading since morning.
(3)  He said that he is reading since morning.

(4) He said that he was reading since morning.

Options :

920906110837. 1
920906110838. 2
920906110839. 3
920906110840. 4

Question Number : 11 Question Id : 92090628049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A triangle can have:

(1) all acute angles (2) two obtuse angles

(3) two right angles (4) one obtuse angle and one right angle



Options :

920906110841. 1
920906110842. 2
920906110843. 3
920906110844. 4

Question Number : 11 Question Id : 92090628049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A triangle can have:

(1) all acute angles (2) two obtuse angles
(3)  two right angles (4) one obtuse angle and one right angle
Options :

920906110841. 1
920906110842. 2
920906110843. 3
920906110844. 4

Question Number : 12 Question Id : 92090628050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the mean of 18, 19, x, 25 and 26 is 21, then find the mean of 5, 11, 13, 19 and (3x-1):

(1) 21 (2) 206
(3) 19.6 (4) 188
Options :

920906110845. 1
920906110846. 2
920906110847. 3
920906110848. 4

Question Number : 12 Question Id : 92090628050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If the mean of 18, 19, x, 25 and 26 15 21, then find the mean of 5, 11, 13, 19 and (3x-1):

(1) 21 (2) 20.6
(3) 19.6 (4) 18.8
Options :

920906110845. 1
920906110846. 2
920906110847. 3
920906110848. 4

Question Number : 13 Question Id : 92090628051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find a single discount equivalent to successive discounts of 10%, 20% and 25%:

(1) 55% (2) 54%
(d) 46% (4) 52%
Options :

920906110849. 1
920906110850. 2
920906110851. 3
920906110852. 4

Question Number : 13 Question Id : 92090628051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find a single discount equivalent to successive discounts of 10%, 20% and 25%:

(1) 55% (2) 54%
(d) 46% (4) 52%
Options :

920906110849. 1
920906110850. 2
920906110851. 3
920906110852. 4

Question Number : 14 Question Id : 92090628052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A man is walking at a speed of 6 km/h. After every km he takes rest for 6 minutes.
How much time will he take to cover a distance of 24 km.

(1) 6 h 24 min (2) 6h18 min
(3) 5h 18 min (4) 4 h 24 min
Options :

920906110853. 1
920906110854. 2
920906110855. 3
920906110856. 4

Question Number : 14 Question Id : 92090628052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man is walking at a speed of 6 km/h. After every km he takes rest for 6 minutes.
How much time will he take to cover a distance of 24 km.

(1) 6 h 24 min (2) 6h 18 min
(3) 5h 18 min (4) 4 h 24 min
Options :

920906110853. 1
920906110854. 2
920906110855. 3
920906110856. 4

Question Number : 15 Question Id : 92090628053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sind+coséd 17 .
f +— = — . then find the value of (5|n4 8 —cos” E):
sind-cosd 7

12

1 119 ) —
(1) (2) 5
119 2

(3) ﬁ' (4) g

Options :



920906110857. 1
920906110858. 2
920906110859. 3
920906110860. 4

Question Number : 15 Question Id : 92090628053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sinfd+cosd 17 .
i = — ., then find the value of (sm4 g —cos” E):

sind-cos@ 7

12

1 119 2) —

(1) () 3

119 2

3 s ) =

(3) 169 (4) 3
Options :

920906110857. 1
920906110858. 2
920906110859. 3
920906110860. 4

Question Number : 16 Question Id : 92090628054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify which of the given conclusions follows from the given statements:
Statement I : No perfume is a fragrance.
Some perfumes are deodorants.

All deodorants are cologne.

Statement II : . At least some perfumes are colognes.

II. No fragrance is deodorant.
(1) only conclusion I is true
(2) only conclusion II is true
(3) Both conclusion I and II are true

(4) Neither coneclusion I nor 11 is true

Options :



920906110861. 1
920906110862. 2
920906110863. 3
920906110864. 4

Question Number : 16 Question Id : 92090628054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify which of the given conclusions follows from the given statements:
Statement I : No perfume is a fragrance.
Some perfumes are deodorants.

All deodorants are cologne.

Statement II : I. At least some perfumes are colognes.

II. No fragrance is deodorant.
(1) only conclusion I is true
(2) only conclusion II is true
(3) Both coneclusion I and II are true

(4) Neither conclusion I nor 11 is true

Options :

920906110861. 1
920906110862. 2
920906110863. 3
920906110864. 4

Question Number : 17 Question Id : 92090628055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following information carefully and answer the question given below:

A is the son of B. C, B's Sister, has a son D and a daughter E. F is the maternal
uncle of D. How 1s E related to F?

(1) Sister (2) Niece
(3) Daughter (4) Wife
Options :

920906110865. 1



920906110866. 2
920906110867. 3
920906110868. 4

Question Number : 17 Question Id : 92090628055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following information carefully and answer the question given below:

A is the son of B. C, B's Sister, has a son D and a daughter E. F is the maternal
uncle of D. How is E related to F?

(1) Sister (2) Niece
(3) Daughter (4) Wife
Options :

920906110865. 1
920906110866. 2
920906110867. 3
920906110868. 4

Question Number : 18 Question Id : 92090628056 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Figure (x) is embedded in which one of the four alternatives:

Figure (x)

(1) (2)

(3) < (4)

Options :
920906110869. 1




920906110870. 2
920906110871. 3
920906110872. 4

Question Number : 18 Question Id : 92090628056 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Figure (x) 15 embedded in which one of the four alternatives:

Figure (x)

(1) (2)

(3) < (4)

Options :

920906110869. 1
920906110870. 2
920906110871. 3
920906110872. 4

Question Number : 19 Question Id : 92090628057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the group of letters which is different from others :

POCG, BUDX, ATRG, ZIKL, FQMV

(1) POCG (2) BUDX
(3) FQMV (4) ZIKL
Options :

920906110873. 1
920906110874. 2



920906110875. 3
920906110876. 4

Question Number : 19 Question Id : 92090628057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the group of letters which is different from others :

POCG, BUDX, ATRG, ZIKL, FQMV

(1) POCG (2) BUDX
(3) FQMV (4) ZIKL
Options :

920906110873. 1
920906110874. 2
920906110875. 3
920906110876. 4

Question Number : 20 Question Id : 92090628058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the most appropriate description about these three words.
Sand stone : Limestone : Coal

(1)  They are formed by metamorphic rocks
(2) They are chemical minerals
(3) They are found in river beds

(4)  They are formed sedimentary rocks

Options :

920906110877. 1
920906110878. 2
920906110879. 3
920906110880. 4

Question Number : 20 Question Id : 92090628058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the most appropriate description about these three words.
Sand stone : Limestone : Coal

(1)  They are formed by metamorphic rocks
(2) They are chemical minerals
(3) They are found in river beds

(4) They are formed sedimentary rocks

Options :

920906110877. 1
920906110878. 2
920906110879. 3
920906110880. 4

Question Number : 21 Question Id : 92090628059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The international Court of Justice was established in the year:

(1) 1946 (2) 1948
(3) 1950 (4) 1947
Options :

920906110881. 1
920906110882. 2
920906110883. 3
920906110884. 4

Question Number : 21 Question Id : 92090628059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The international Court of Justice was established in the year:

(1) 1946 (2) 1948
(3) 1950 (4) 1947
Options :

920906110881. 1
920906110882. 2
920906110883. 3
920906110884. 4



Question Number : 22 Question Id : 92090628060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I :

List I (Country) List II (Emblem)
(A) Australia (I) Lionel Capital
(B) United States of America (II) Kangaroo
(C) India (ITT) Golden rod
(D) United Kingdom (IV) Rose

(Choose the correct answer from the options given below:

(1) (A-ID, (B)-(ID), (C)-(D), (D)-IV)
(2 (A)-AD, (B)-(ID), (C)-(IV), (D)-(D)
(3 (A)-AID, (B)-(1D), (C)-(D), (D)-(IV)
(4)  (A)-AV), (B)-(IID), (C)-(I), (D)-(II)

Options :

920906110885. 1
920906110886. 2
920906110887. 3
920906110888. 4

Question Number : 22 Question Id : 92090628060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mateh List T with List IT -

List [ (Country) List II (Emblem)
(A) Australia (I) Lionel Capital
(B) United States of America (II) Kangaroo
(C) India (IIT) Golden rod
(D) United Kingdom (IV) Rose

Choose the correct answer from the options given below:

(1) (A)-ID, (B)-(ID), (C)-(I), (D)-(IV)
(2)  (A)-ID, (B)-(ID), (C)-(IV), D)-(D)
(3 (A)-aID, (B)-(ID), (C)-(I), (D)-(IV)
(1)  (A)-AV), (B)-(11D), (C)-(D), (D)-(1I)

Options :

920906110885. 1
920906110886. 2
920906110887. 3
920906110888. 4

Question Number : 23 Question Id : 92090628061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

National Development Council was constituted on

(1)  Augustl6, 1950 (2) Aprl 01, 1951
(3)  August 06, 1952 (4) August 16, 1952
Options :

920906110889. 1
920906110890. 2
920906110891. 3
920906110892. 4

Question Number : 23 Question Id : 92090628061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



National Development Council was constituted on

(1)  Augustl6, 1950 (2) April 01, 1951
(3)  August 06, 1952 (4) August 16, 1952
Options :

920906110889. 1
920906110890. 2
920906110891. 3
920906110892. 4

Question Number : 24 Question Id : 92090628062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements: One 15 labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : Marathas emerged as the strongest native power in India after the
decline of Mughal

Reasons (R) :  Maratha were the first to have a clear concept of United Nation.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 15 NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

920906110893. 1
920906110894. 2
920906110895. 3
920906110896. 4

Question Number : 24 Question Id : 92090628062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements: One 15 labelled as Assertion (A) and the other 1s
labelled as Reason (R).

Assertion (A) : Marathas emerged as the strongest native power in India after the
decline of Mughal

Reasons (R) :  Maratha were the first to have a clear concept of United Nation.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 15 NOT the correct explanation of (A)
(3) (A) 1s correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

920906110893. 1
920906110894. 2
920906110895. 3
920906110896. 4

Question Number : 25 Question Id : 92090628063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Deepika Kumari is associated with which of the following sports?

(1) Archery (2) Gymnastics
(3) Badminton (4) Athletics
Options :

920906110897. 1
920906110898. 2
920906110899. 3
920906110900. 4

Question Number : 25 Question Id : 92090628063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Deepika Kumari 1s associated with which of the following sports?

(1) Archery (2) Gymnastics
(3) Badminton (4) Athletics
Options :

920906110897. 1
920906110898. 2
920906110899. 3
920906110900. 4

Part B: Theatre

Section Id : 920906556
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906900
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090628064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The author of the treatise 'Abhinayadarpana’ is
1. Bharata

2. Nandikeshwara

3. Tulsidas

4. Surdas

Options :

920906110901. 1
920906110902. 2
920906110903. 3
920906110904. 4



Question Number : 26 Question Id : 92090628064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
G UY &S AED ¢
1. H{d
2. Afederay
3. Jadie™
4, EN

Options :

920906110901. 1

920906110902. 2

920906110903. 3

920906110904. 4

Question Number : 27 Question Id : 92090628065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The author of the book 'Poetics' is:
1. Aristotle

2. Peter Brook
3. Richard Schechner

4. Sophocles

Options :

920906110905. 1
920906110906. 2
920906110907. 3
920906110908. 4

Question Number : 27 Question Id : 92090628065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR IS [P & a6d o :
1. 3R

Options :
920906110905. 1
920906110906. 2



920906110907. 3
920906110908. 4

Question Number : 28 Question Id : 92090628066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'Dasarupaka’ is a treatise on:
1. Tamil Dramaturgy
2. Kannada Dramaturgy
3. Prakrit Dramaturgy
4, Sanskrit Dramaturgy

Options :

9209061109009. 1

920906110910. 2

920906110911. 3

920906110912. 4

Question Number : 28 Question Id : 92090628066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TEUS Y BT favg 8 -
1. dffd Areadn
2. PdAs Al
3. Uidd Al&Ihdl
4. FEI_’J_d BIGICAN]|

Options :

920906110909. 1

920906110910. 2

920906110911. 3

920906110912. 4

Question Number : 29 Question Id : 92090628067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'Geetanjali' was written by:

1. Mohandas Karamchand Gandhi
2. Narayana Menon

3. Shankar Menon

4. Rabindranath Tagore

Options :

920906110913. 1



920906110914. 2
920906110915. 3
920906110916. 4

Question Number : 29 Question Id : 92090628067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
THidiefe &1 dEd DI ¢ ?
1. HIGTaN DRAE< T
2. AR AT

3. WER AT

4. TEAY SR
Options :

920906110913. 1
920906110914. 2
920906110915. 3
920906110916. 4

Question Number : 30 Question Id : 92090628068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The play written by 'Shudraka’-
1. Kiraataarjuneeyam
2. Mrichakatikam
3. Yoga Sutra
4. Kama Sutra

Options :

920906110917. 1

920906110918. 2

920906110919. 3

920906110920. 4

Question Number : 30 Question Id : 92090628068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yo' gRI fafed aes -
1. feuanqia

2. HEBdhichH

3. GRTgd

4. BHYA



Options :

920906110917. 1
920906110918. 2
920906110919. 3
920906110920. 4

Question Number : 31 Question Id : 92090628069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'An Actor Prepares' 1s a book written by:
Mayerhold

3

2. Brecht

3. Peter Brook

4. Stanislavski
Options :
920906110921. 1
920906110922. 2
920906110923. 3
920906110924. 4

Question Number : 31 Question Id : 92090628069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T Tk oo e qeds foee fordt 2
1. ARG

2. s

3. UlRgs

4. WHEes!

Options :

920906110921. 1

920906110922. 2

920906110923. 3

920906110924. 4

Question Number : 32 Question Id : 92090628070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the earliest treatise on Indian theatre ?
1. Bhavaprakasha

2. Natyasastra

3. Nritta Ratnavalh

4. Hastalakshna Deepika

Options :

920906110925. 1
920906110926. 2
920906110927. 3
920906110928. 4

Question Number : 32 Question Id : 92090628070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S0 9§ -9 &9 UIHH Uy HRAI Aregddl R for@r T g ?
1. HIAUST
2. ATCauId
3. 7 IdEal
4. Tl g
Options :
920906110925. 1
920906110926 2
920906110927. 3
920906110928. 4

Question Number : 33 Question Id : 92090628071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is 'Fifth Veda' (Panchama veda):
1. Natya Veda
2. Rigveda

3. Samaveda
4. Yajurveda

Options :

920906110929. 1
920906110930. 2
920906110931. 3
920906110932. 4

Question Number : 33 Question Id : 92090628071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Frofefag & § &9 49w 3 a1 9 g2
1. Aeade

2. g

3. gmdg

4. I9de

Options :

920906110929. 1
920906110930. 2
920906110931. 3
920906110932. 4

Question Number : 34 Question Id : 92090628072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What does 'Kathakali' literally mean ?
1. Reciting a poem

2. Singing a song

3. Acting a story

4. Composing music

Options :

920906110933. 1
920906110934. 2
920906110935. 3
920906110936. 4

Question Number : 34 Question Id : 92090628072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FHUBU! BT WMo AL @ :

1. Diddl T YIS HIAI

2. Tiid maE

3. HYFSD (TR AHTT

4. Hd &1 AT BT

Options :

920906110933. 1
920906110934. 2
920906110935. 3
920906110936. 4



Question Number : 35 Question Id : 92090628073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which theatre from of India i1s famous for presenting Sanskrit Dramas ?
1. Koodiyattam

2. Burrakatha

3. Tolubommalata

4. Therukuttu

Options :

920906110937. 1

920906110938. 2

920906110939. 3

920906110940. 4

Question Number : 35 Question Id : 92090628073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TP AeH D1 UId DA dlell JHd fAUr 1w ¢ 2

1. PfsugH
2. iHAl
3. diE e
4. 43Ppce

Options :

920906110937. 1
920906110938. 2
920906110939. 3
920906110940. 4

Question Number : 36 Question Id : 92090628074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'Kanva' is a character in the Sansknit play:
1. Kumara Sambhavam

2. Vikramoorvasiyam

3. Meghadutam

4. Abhijnana Shakuntala

Options :

920906110941. 1

920906110942. 2

920906110943. 3



920906110944. 4

Question Number : 36 Question Id : 92090628074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
374 9 fard W% d AIles § &0d A0S Th UH © ?
1. PHAR UHd
2. famordiRmm
3. HugdH
4, STHFAS e
Options :
920906110941. 1
920906110942. 2

920906110943. 3
920906110944. 4

Question Number : 37 Question Id : 92090628075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'Watya' means:

1. Music

2. Histrionics

3. Singing

4. Rhythm
Options :

920906110945. 1
920906110946. 2
920906110947. 3
920906110948. 4

Question Number : 37 Question Id : 92090628075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e § dred 8:

1. i

2. g

3. a4

4 4
Options :
920906110945. 1



920906110946. 2
920906110947. 3
920906110948. 4

Question Number : 38 Question Id : 92090628076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The full form of 'TPTA' is-

1. Indian people's Theatre Association

2. Indian people's Technical Association

3. Indian people's Tourist Association

4. Indian people's Temple Association
Options :

920906110949. 1
920906110950. 2
920906110951. 3
920906110952. 4

Question Number : 38 Question Id : 92090628076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 9 A U Een) HT I TUE -
1. 3fUggd diued fiver waiikeeH
2. 3ftgyH diuey efded uafueE
3. gftsaH diuey eiive wHifiuA
4. SteyA diuey T THIRuEE

Options :

920906110949. 1
920906110950. 2
920906110951. 3
920906110952. 4

Question Number : 39 Question Id : 92090628077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The full form of 'N.S.D' is

National School of Dance

National School of Drama

National School of Development
1

1.
.
3.
4. National Social Development



Options :

920906110953. 1
920906110954. 2
920906110955. 3
920906110956. 4

Question Number : 39 Question Id : 92090628077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

.09, 3. FlfRgad Fu g

1. 9Fd ¥pd % 3

2. A WP 3 S

3. YA W 3 SdqUHT
4. FvFd IEd Sddude
Options :

920906110953. 1
920906110954. 2

920906110955. 3

920906110956. 4

Question Number : 40 Question Id : 92090628078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is 'Nepathyagriha' ?
1. Black box
2. Green room
3. Front stage
4. Curtain

Options :

920906110957. 1

920906110958. 2

920906110959. 3

920906110960. 4

Question Number : 40 Question Id : 92090628078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AU H1§ ?

1. ®i& diad

2. Bd &y @HEH)
3. HagE

4. a1

Options :

920906110957. 1
920906110958. 2
920906110959. 3
920906110960. 4

Question Number : 41 Question Id : 92090628079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the full form of "T.1LE.'?
1. Theatre in Environment

2. Theatre in Excellence

3. Theatre in Evaluation

4. Theatre in Education

Options :

920906110961. 1
920906110962. 2
920906110963. 3
920906110964. 4

Question Number : 41 Question Id : 92090628079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1S S (C13) P fagd EURNE ?
1. fUuer g9 tHammREe

2. fUueR 37 vy

3. TR g SaregEA

4. fuer 1 uobh e

Options :

920906110961. 1

920906110962. 2

920906110963. 3

920906110964. 4



Question Number : 42 Question Id : 92090628080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List 11

LIST T LIST II
A. [Konark [. |Brihadiswara temple
B. [Tanjavur I1. JJagannatha temple
C. [Chidambaram|IIl. [Sun temple
D. Puri IV.[Nataraja temple
1. A-IV, B-11, C-1, D-1II
2. A-1, B-I, C-III, D-IV
3. A-IL B-1V, C-II1, D-1
4. A-III, B-1, C-IV, D-1I

Options :

920906110965. 1
920906110966. 2
920906110967. 3
920906110968. 4

Question Number : 42 Question Id : 92090628080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ | BT Y[ 116 Ty fae s
g | Ll
A BIMH 1. FEaR
B. dGllgR  II. SATHIY HidR
c. FEam . gd bfR
D. gd V. e AR
1. A-IV, B-Il, C-I, D-lll
2. A-l, B-II, C-ll, D-IV
3. A-ll, B-IV, C-lll, D-|
4. A-lll, B-l, C-IV, D-Il
Options :
920906110965 1
920906110966. 2
920906110967. 3
920906110968. 4

Question Number : 43 Question Id : 92090628081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pt. Birju Maharaj is a famous:
Odissi dancer

Kathak dancer

Theatre artist

Mridanga player

(L= T ]

Options :

920906110969. 1
920906110970. 2
920906110971. 3
920906110972. 4

Question Number : 43 Question Id : 92090628081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Erlﬁaaﬁiqqe I Ui
1. 3fifselt 9de €
2. PYP AP 6
3. U9 ® FABR &
4. HIEEH B
Options :
920906110969. 1
920906110970. 2

920906110971. 3
920906110972. 4

Question Number : 44 Question Id : 92090628082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List [ with List II

LIST I LIST 11

A. [Oedipus Rex [. [Habib Tanvir

B. Macheth I1. |Girish Karnad

C. Hayavadana II1.[Sophocles

D. [Charandas Chor |IV. |William Shakespeare

1. A-II, B-1V, C-11, D-1
2. AL, B-III, C-11, D-IV
3. AL B-I11, C-IV, D-1
4. A, B-1, C-11, D-IV

Options :
920906110973. 1
920906110974. 2



920906110975. 3
920906110976. 4

Question Number : 44 Question Id : 92090628082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g | 1 g 15 |y e Sifon|

El g

A BUY Y@ | gdd addR
B. Aday 1. R &4l
C. ggdeH |11, Frwifaed

1. A-lll, B-1v, C-lI, D-I
2. A-l, B-lil, C-ll, D-IV
3. A-ll, B-llI, C-IV, DI
4. A-ll, B-1, C-ll, D-IV
Options :
920906110973. 1
920906110974. 2
920906110975. 3
920906110976. 4

Question Number : 45 Question Id : 92090628083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List [ with Last 11

LIST 1 LIST 11

Sita I. JArjuna
Draupadi| I1. [Pandu
Kunti I1I. |Dritarashtra
. |[Gandhanr]IV.[Rama

1. A-1, B-IIL, C-II, D-IV

2. A-IV, B-1, C-11, D-II1

3. A1 B-1V, C-1, D-IIT

4. A-IN, B-1, C-1I, D-IV

Options :

920906110977. 1
920906110978. 2
920906110979. 3
920906110980. 4

o|al=|>




Question Number : 45 Question Id : 92090628083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g | H1 g 1 & 91y fAaH S|

g | gl

A L &IT{I:[
B. ZIUG |

C. F=l 1l

D. YR 1v. ?IIII
1. A-l, B-lll, C-ll, D-IV
2. A-IV, B-l, C-Il, D-lIl
3. A-ll, B-IV, C-I, D-lIl
4. A-lll, B-l, C-ll, D-IV

Options :

920906110977. 1
920906110978. 2
920906110979. 3
920906110980. 4

Question Number : 46 Question Id : 92090628084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick the odd one out:
1. Ratan Thiyam

2. Satish Alekar

3. Ebrahim Alkaji
4. Bismillah Khan

Options :

920906110981. 1
920906110982. 2
920906110983. 3
920906110984. 4

Question Number : 46 Question Id : 92090628084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



314 9 fawn &1 g
1. I fom

2. A e
3. SolleH 3fehlall
4. faf@reee @[

Options :

920906110981. 1
920906110982. 2
920906110983. 3
920906110984. 4

Question Number : 47 Question Id : 92090628085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'Shakuni' is a character from which epic:
Ramayana

2. Mahabharata

Shiva purana

Shilappadikaaram

o

e £0

Options :

920906110985. 1
920906110986. 2
920906110987. 3
920906110988. 4

Question Number : 47 Question Id : 92090628085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WP Fafeied ¥ &y e S uE g ?
1. IE™
2. HEIHRd

3. fRra QR
4, ReufdeRy

Options :

920906110985. 1
920906110986. 2
920906110987. 3
920906110988. 4



Question Number : 48 Question Id : 92090628086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kalaripayattu, a form of martial art developed in the state of:

1. Manipur
2. Assam
3. Kerala

4. Tamilnadu
Options :
920906110989. 1
920906110990. 2
920906110991. 3
920906110992. 4

Question Number : 48 Question Id : 92090628086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad o @ fea T & wifidfad $o1 $1 06 UeR 'dariugee faaiid

g3l ?

1. HfOQR

2. 39H

3. &

4 5
Options :
920906110989. 1
920906110990. 2
920906110991. 3
920906110992. 4

Question Number : 49 Question Id : 92090628087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The epic 'Mahabharata' 1s written by:

1. Valmiki

2. Vyasa

3. Tulsidas

4. Purandaradas
Options :

920906110993. 1
920906110994. 2
920906110995. 3



920906110996. 4

Question Number : 49 Question Id : 92090628087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HEIHRA Heldhd & TEIPR &
1. dreHife
2. &N

3. godie™

4, Qe
Options :
920906110993. 1
920906110994. 2
920906110995. 3
920906110996. 4

Question Number : 50 Question Id : 92090628088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ahilya and Sumiitra appear as characters in
1. Mahabharta

2. Agnipuranam

3. Ramcharitmanas

4. Shivapuranam

Options :

920906110997. 1

920906110998. 2

920906110999. 3

920906111000. 4

Question Number : 50 Question Id : 92090628088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fAmifea fog du # sifge SR G U & U HE ?
1. HeM™MRd

2. SR
3. IHANTHAY

4. gy

Options :
920906110997. 1



920906110998. 2
920906110999. 3
920906111000. 4

Question Number : 51 Question Id : 92090628089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Pick the odd one out:

Sattriva

Kuchipudi

Karma

Therukoothu

Options :

920906111001. 1
920906111002. 2
920906111003. 3
920906111004. 4

Question Number : 51 Question Id : 92090628089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

214 fasm &1 gfAu|
1. T

2. Ppiugsl

3. HHI

4. 939y

Options :

920906111001. 1
920906111002. 2
920906111003. 3
920906111004 4

Question Number : 52 Question Id : 92090628090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who plaved the title role in the film 'Bahubali' ?
1. Heithik Roshan

2. Allu Arjun

3. Prabhas

4. Ranbir Kapoor



Options :

920906111005. 1
920906111006. 2
920906111007. 3
920906111008. 4

Question Number : 52 Question Id : 92090628090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gl fher H HBr et fhem Fuge
1. R de=

2. 3 3foA

3. UHN

4, TUMER YT
Options :
920906111005. 1
920906111006. 2
920906111007. 3
920906111008. 4

Question Number : 53 Question Id : 92090628091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'Aharya Abhinaya' is related to:
1. Costume and Makeup
2. Verbal acting

3. Physical acting

4. Emotional acting
Options :

920906111009. 1
920906111010. 2
920906111011. 3

920906111012. 4

Question Number : 53 Question Id : 92090628091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3TeTd ST frad Tefida g 2
1. UM 3R g

2. difgd =g

3. STt Mg

4. Tifad AT

Options :

920906111009. 1

920906111010. 2

920906111011. 3

920906111012. 4

Question Number : 54 Question Id : 92090628092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The famous Hindi play written by "Mohan Rakesh" is:
1. Lehron Ke Rajhans
2. Andher Nagri Chaupat Raja
3. Ghasiram Kotwal
4. Charandas Chor

Options :

920906111013. 1

920906111014. 2

920906111015.3

920906111016. 4

Question Number : 54 Question Id : 92090628092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Higa UHr gRI fafad ufiig T &
1. gl & Iolgd

2. SR TRI e Il

3. YR Hiddrd

4. TUREHN R

Options :

920906111013. 1

920906111014. 2

920906111015. 3

920906111016. 4

Question Number : 55 Question Id : 92090628093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The film "Titanic" has been directed by:
1. James Cameroon

2. Steven Spielberg

3. Martin Scorsese

4. Romon Polaski

Options :

920906111017. 1
920906111018. 2
920906111019. 3
920906111020. 4

Question Number : 55 Question Id : 92090628093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eReH® ftherd &1 g
1. O - A

2. W fyae A

3. WA I8e A

4. A RS A

Options :

920906111017. 1
920906111018. 2
920906111019. 3
920906111020. 4

Question Number : 56 Question Id : 92090628094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
According to Natyasastra, the Vrittis are-
1. 3

2. 4

3. 5

4. 8

Options :

920906111021. 1

920906111022. 2

920906111023. 3

920906111024. 4



Question Number : 56 Question Id : 92090628094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TENIRE $ 3UR, gl & UPR &-

Options :

920906111021. 1
920906111022. 2
920906111023. 3
920906111024. 4

Question Number : 57 Question Id : 92090628095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The author of the famous Telugu play 'Kanyashulkam' is
1. Gurajada Apparao

2. Vireshilingam Pantulu

3. C. Narayana Reddy

4. Shri Shri

Options :

920906111025. 1
920906111026. 2
920906111027. 3
920906111028. 4

Question Number : 57 Question Id : 92090628095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
URIG de] Aled ‘HIYehH S a6 ¢
1. RMTET AR

2. di=rfei uqq

3. 4t AR ¥E

4. St 4
Options :
920906111025. 1
920906111026. 2
920906111027. 3



920906111028. 4

Question Number : 58 Question Id : 92090628096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a theatrical form of Japan ?
1. Noh

2. Peking Opera

3. Lakhon Bassac

4. Bangsawan

Options :

920906111029. 1

920906111030. 2

920906111031. 3

920906111032. 4

Question Number : 58 Question Id : 92090628096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

390 -l ST9H &1 Uh JTHA faun g 2
1. e

2. Ufds 3O

3. EH 9EE

4, qEEA

Options :

920906111029. 1

920906111030. 2

920906111031. 3

920906111032. 4

Question Number : 59 Question Id : 92090628097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which theatre company was founded by 'Habib Tanvir' ?
1. Darpana Theatre

2. Aadishakti Theatre

3. Sopanam

4. Naya Theatre

Options :

920906111033. 1

920906111034. 2



920906111035. 3
920906111036. 4

Question Number : 59 Question Id : 92090628097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIE a9 GRT | WHE (fUUe) Su-it &1 19 ¢
1. gqur o (fue)

2. ofewifad fiue

3. HuEH

4, 41 U]
Options :
920906111033. 1
920906111034. 2
920906111035. 3
920906111036. 4

Question Number : 60 Question Id : 92090628098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The term "Nayika' means:

1. Hero

2. Heroine

3. Villain

4. Friend

Options :

920906111037. 1
920906111038. 2
920906111039. 3
920906111040. 4

Question Number : 60 Question Id : 92090628098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AMYHT UG BT SR &
1. BN

2. feigA

3. fae=

4. HMAfSTA

Options :



920906111037. 1
920906111038. 2
920906111039. 3
920906111040. 4

Question Number : 61 Question Id : 92090628099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The term 'WNayaka' means:

1. Villain

2. Heroine

3. Hero

4 Comedian
Options :
920906111041. 1
920906111042. 2
920906111043. 3
920906111044. 4

Question Number : 61 Question Id : 92090628099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A% Ueg, W did &

1. faem

2. oA

3. BRI

4. PALSTA

Options :

920906111041. 1
920906111042. 2
920906111043. 3
920906111044. 4

Question Number : 62 Question Id : 92090628100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Bharata's Natyashastra 'Prakarana’ is one type of:
1. Rasa

2. Bhava

3. Dasarupaka

4. Abhinaya



Options :

920906111045. 1
920906111046. 2
920906111047. 3
920906111048. 4

Question Number : 62 Question Id : 92090628100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRd & ATCTURA & SR UH0I 394 ¥ [HHD1 U YR @ ?
1. ™

2. Y4

3. WEUS

4. =g

Options :

920906111045. 1
920906111046. 2
920906111047. 3
920906111048. 4

Question Number : 63 Question Id : 92090628101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many categories of musical instruments have been described by
Bharatmuni ?

1, ‘B
2. 4
3. 7
4, 9
Options :

920906111049. 1
920906111050. 2
920906111051. 3
920906111052. 4

Question Number : 63 Question Id : 92090628101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YA & AICUNR P IR dRdA fbaa wui # aiffeprd fu e 3 2
1.
2.
3,
4. 9

Options :
920906111049, 1
920906111050. 2
920906111051. 3
920906111052. 4

=] = N

Question Number : 64 Question Id : 92090628102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The theatre company which consists of members of one family and has
been running for more than hundred vears is
1. Surabhi company

2. Gubbi Veeranna company

3. Sopanam

4. Kohinoor theatre
Options :
920906111053. 1
920906111054. 2
920906111055. 3
920906111056. 4

Question Number : 64 Question Id : 92090628102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U fuer Su-t o U gt ultar & T s 100 ¥ 31 auf 39
T $YWE S, T8 8

1. IR S

2. T[sdll famar ot

3. 9

4. DifgR AT

Options :

920906111053. 1
920906111054. 2
920906111055. 3
920906111056. 4



Question Number : 65 Question Id : 92090628103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indira Gandhi National Centre for Arts is located at:
1. Prayagraaj

2. Chennai

3. Bangalore

4. New Delhi

Options :

920906111057. 1
920906111058. 2
920906111059. 3
920906111060. 4

Question Number : 65 Question Id : 92090628103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfery Tiieh It wen F Fel SRy & 2
1. UOIHRS

2. A%

3. dTER

4. s e
Options :
920906111057. 1
920906111058. 2
920906111059. 3
920906111060. 4

Question Number : 66 Question Id : 92090628104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A and the
other is labelled as Reason R.

Assertion (A) : The way we use our body in daily life 1s substantially
different from the way we use it in the performances.

Reason (R) : In daily life we use the body technique which has been
conditioned by our culture, social status and our profession.

In the light of the above statements, choose the most appropriate answer
from the options given below :

1. Both A and R are correct and R is the correct explanation A

2. Both A and R are correct and R 1s the NOT the correct explanation A
3. Aiscorrect but R is not correct

4. A is not correct but R is correct

Options :

920906111061. 1
920906111062. 2
920906111063. 3
920906111064. 4

Question Number : 66 Question Id : 92090628104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 G FYA RU T § : 3B YA (Assertion A) & 34 ¥ feiRad & ol ¥R BRI
(Reason R}ﬁiﬁqﬁ:

HHHYA A - o I ¥ §H 31U IRR &1 Al offigd # S9N &d & 98
T warell # ugea IRING WUl 9 dad: 9 gar g

HRUIR : AU ¢ Sia | gH foF IR wiafedt &1 Iuahn &d € a8
U Wikpids Hmieie gRiRufadi ok garRt givedi 9 sraierd gidl 81
SR HYF & 3dld H, I [T 70 fab el 7 9 99 Iugad I 1 994
Hiforg

1. AR REH T8l € 3R R, A DI Uel AR &

2. ASRRGH Hel € AfPIR, A DI Uel NS T8 &
3. AGEIR AfPIR A TETR

4. ATEIEI ¢ AfPIR TS

Options :

920906111061. 1
920906111062. 2
920906111063. 3
920906111064. 4

Question Number : 67 Question Id : 92090628105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A and the
other is labelled as Reason R.

Assertion (A) : Dhananjava classified various rupakas on the basis of
Vaastu, Neta and Rasa

Reason (R) : He wanted to differ from Bharata's concept of Dasarupka,
who believed that Vritti determines the types of dramatic composition.
In the light of the above statements, choose the most appropriate answer
from the options given below :

1. Both A and R are correct and R is the correct explanation A

2. Both A and R are correct and R is the NOT the correct explanation A
3. A s correct but R is not correct

4. A is not correct but R is correct

Options :

920906111065. 1
920906111066. 2
920906111067. 3
920906111068. 4

Question Number : 67 Question Id : 92090628105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 3§ FYA QU T & : S YA (Assertion A) & 34 # iRad § dl g3R1 HRUI
(Reason R) FIUH:

HIUBYT A : TR, AT 3R T F YR R eFod A fafay wuai &1 affed

G2

$NUIR : d YId & SIS S SAYRON H 7 61 918 4, o fayra ur
fab gy et TS & USRI 1 Ui sdl 81

IR HUF & 3l |, A1 3T T fab el # 4 a8 Iugd I &1 999
Pifog

1. ASIRRSHITEIE MR R, AP Hel ST &

2. ASIRRTHI Ul € dfbA R, A P! Hel oI el &

3. AUSIgUfPARTEI TSl &

4. AUEIEI g AfBIR TR

Options :

920906111065. 1

920906111066. 2

920906111067 3

920906111068. 4

Question Number : 68 Question Id : 92090628106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A and the
other is labelled as Reason R.
Assertion (A) : Text 1s one of the important elements for a theatrical
performance.
Reason (R) : A play can be performed even without a written text.
In the light of the above statements, choose the most appropriate answer
from the options given below :
1. Both A and R are correct and R 1s the correct explanation A
2. Both A and R are correct and R is the NOT the correct explanation A
3. Ais correct but R is not correct
4. A is not correct but R is correct

Options :

920906111069. 1

920906111070. 2

920906111071. 3

920906111072. 4

Question Number : 68 Question Id : 92090628106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR A FYARUTE : 3HBHYA (Assertion A) & FU H feifad B 1 gERI BRI
{Reason R}%Wﬁ:

BT A : TTHETY U (RBRAY) 8 Yoy @) Hewyyl ol § 9 Uh
gl

@RI R : fafad Arearcra & fo= o Ares uwgd faan o gl

SRR $YF & e H, i fCu 7u fab el # 9 9ad Iugad IR &1 9894
EIIE LY

1. A 3R RSH 98l € 3R R, A B Tel AT &

2. A SR RS T8l g, T R, A D Uel A el &
3. AGEIR AT R TS TETR

4. AUEITEIE AfPIRTEI

Options :

920906111069. 1
920906111070. 2
920906111071. 3
920906111072. 4

Question Number : 69 Question Id : 92090628107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A and the
other is labelled as Reason R.
Assertion (A) : The process of arranging moves to be made by the actors
during the play, is called blocking.
Reason (R) : A stage actor needs to know the technique to act in front of
the audience.
In the Llight of the above statements, choose the most appropriate answer
from the options given below :
Options :
920906111073. 1
920906111074. 2
920906111075. 3
920906111076. 4

Question Number : 69 Question Id : 92090628107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ia G Py U U § : 3B YA (Assertion A) & $U T feifdd g d1 gERI SR

(Reason R;%Wﬁ':

HHHYA A ; ATled AT & R et siftEay i@ grr &t 9

Tt Hgad &1 aied #d & Ulchdl Miafdy™ (@it T) Heard gl

DHRUIR : [ 09 A & S3@] & THA A H &I Ui Fan o
AT A g

SR HYF & 3Mdid H, 9 AU M0 faw el # 9 9ad Iuga I &1 994

St
1. AR RIH T8l € 3R R, A DI Ual AR &

2. A3RRIFAIUEE AfFTR A DS BN T &
3. AU AT RS TETR
4. AGSIEIgAfPIR TG ©

Options :

920906111073. 1
920906111074. 2
920906111075. 3
920906111076. 4

Question Number : 70 Question Id : 92090628108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A and the
other is labelled as Reason R.

Assertion (A) : There is a parallel tradition of Modern Indian Theatre
inspired by western concepts and practices.

Reason (R) : We have two dominant directorial styles: The first is that of
E. Alkazi which is predominantly western and modernist; and the second
1s that of B.V. Karanth which is a kind of Neo-Folk Theatre.

In the light of the above statements, choose the most appropriate answer
from the options given below :

Both A and R are correct and R 1s the correct explanation A

Both A and R are correct and R is the NOT the correct explanation A
3. Ais correct but R is not correct

1. A is not correct but R is correct

b

B

Options :

920906111077. 1
920906111078. 2
920906111079. 3
920906111080. 4

Question Number : 70 Question Id : 92090628108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7 g1 HyA AU T & : 3MfHYA (Assertion A) & ¥U T faiRad g dl gER1 HRUI
(Reason R}ﬁiﬁqﬁ:

VB A : O srauronaff R feraraardi | UG sneyfs yRdg e
®1 U HMIR W §

HRUIR : AR T8I &l Y@ Fexa g Aferai urdt oIl €, 3. sferoll @ [uex &
fa e gigadt SiR sy & ofR gERi dl. df. FRY &1 T ([ATeR) F1UH
PR g, off 701 didpred 2|

SRR HUF & 3dld |, A1 30 7T fabedl # 4 a8 IugH IR &1 999
®ifeg

A 3R R GHT Ual § 3R R, A B Hel A &

A 3R R aHT Ual 8, dfd R, A &1 el AT T8l &

ATEl g Afp R G e 8

ATE TR g AFTR UL B

Options :

920906111077. 1
920906111078. 2
920906111079. 3
920906111080. 4

-l L



Question Number : 71 Question Id : 92090628109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the
other is labelled as Reason R.

Assertion (A) : When enacted, drama employs several elements of
performing and plastic arts.

Reason (R) : It is a composite art.

In the light of the above statements, choose the most appropriate answer
from the options given below :

1. Both A and R are correct and R is the correct explanation A

[

Both A and R are correct and R is the NOT the correct explanation A

3. A 1is correct but R 1s not correct
4. A is not correct but R is eorrect
Options :

920906111081. 1
920906111082. 2
920906111083. 3
920906111084. 4

Question Number : 71 Question Id : 92090628109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 g1 HyA AU MU § : 1S YA (Assertion A) & ¥U H faifad g dl gER1 HRUI
(Reason R) HIUH:

DY A : AICH 30 Haq § &3 UDR & Alcd H8e R @Ied ATed
& ol &1 Uar Sl g

®RUI R : U8 UF Y Fal gl

SURIE HYA & 3l H, A fu 1 fabedi # 9 999 Iuge IR 1 Ig-
Hiforg

1. AR R TSI E SRR, A P Tel AR 8

2. AR Ul & AR A D el AT TE1 &

3. AGEIgAfPIR U TEI 8

4, AGEITEIg APIRTE

Options :

920906111081. 1

920906111082. 2
920906111083. 3
920906111084 4



Question Number : 72 Question Id : 92090628110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements @ One 18 labelled as Assertion A and the
other is labelled as Reason R.

Assertion (A) : A Theatre Director should have knowledge of performing
arts and crafts.

Reason (R) : A Director has to coordinate the technical and artistic
elements during the production process.

In the light of the above statements, choose the most appropriate answer
from the options given below :
1. Both A and R are correct and R 1s the correct explanation A
2. Both A and R are correct and R is the NOT the correct explanation A
3. Aiscorrect but R is not correct
4. A is not correct but R is correct

Options :

920906111085. 1

920906111086. 2

920906111087. 3

920906111088. 4

Question Number : 72 Question Id : 92090628110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 gl FYA U T & : TS YA (Assertion A) & ¥4 H feiRad § dl g3R1 HRUI
(Reason R) HEUH:

fHEHY A - T (ATeR) e &1 i fFeae s &1 3F gF =ifgul
SRR : FEY® &1 Uxgfa Ufshd1 & G0 da-ie] R AP ddl & aid

GH-3g H USdl gl

IR HUA & 3Tdld H, 14 30 U fab el # § a8 Iugd IR &1 999
PifoTg

1. A SR RSHI T8l € 3R R, A Pl UEl TBATE

2. AR RIAITE g, AP R, A B UL AR 6l &

3, AUGleUfPTRTEI G &

4. AGE TR g AlPAREE ©

Options :

920906111085. 1
920906111086. 2
920906111087. 3
920906111088. 4



Question Number : 73 Question Id : 92090628111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in correct sequence :
A. Rigveda

B. Samaveda

C. Natyaveda

D. Yajurveda

E. Atharvaveda

Choose the correct answer from the options given below :
ABE.CD

ADBEC

AC.BD.E

AECBD

—

L

Options :

920906111089. 1
920906111090. 2
920906111091. 3
920906111092. 4

Question Number : 73 Question Id : 92090628111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 3fIehH H Hafeyd Siforg|

A. FHidg

B. THdg

C. dI&Idg

D. Ugde

E. 3fydag

419 fau T fasedi § 8 Tl IR &1 99 $iforg

1. ABECD

2. ADBEC

3. ACBDE

4. AECBD
Options :
920906111089. 1
920906111090. 2
920906111091. 3
920906111092 4

Question Number : 74 Question Id : 92090628112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Identify the chronological order of the following plays:
A. Mudra-rakshas
B. Veni-Samhaaram
C. Abhigvan-Shakuntalam
D. PrasannaRaaghava
E. SwapnaVasavadattam
Choose the correct answer from the options given below :
1. ABCDE
2. E,CABD
3. EDCBA
4. D,CBAE
Options :
920906111093. 1
920906111094. 2
920906111095. 3
920906111096. 4

Question Number : 74 Question Id : 92090628112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad &1 w1 Fan
. {18

aull HgRH

. AT WpdeH

PR PRI

. WUdNdgTy

Hia fu v fasweui # ¥ | IR &1 I8 B ;
1. ABCD,E

2. ECABD

3. ED.CBA

4. D/CBAE

I=

m oo

Options :

920906111093. 1
920906111094. 2
920906111095. 3
920906111096. 4

Question Number : 75 Question Id : 92090628113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[dentify the correct sequence in chronological order
A. Aeschylus
B. Aristophanes
C. Sophocles
D. Euripedes
E. Menander
Choose the correct answer from the options given below :
1. ACDBE
2. AEBCD
3. AB,CD.E
4. AD,B,C.E
Options :
920906111097. 1
920906111098. 2
920906111099. 3
920906111100. 4

Question Number : 75 Question Id : 92090628113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BIADHAIR HdRIT H 3761 el 3IhH dd1gU
A. TRPTH

B. TR Ih-Hd

C. QbR

D. glifusia

E. WA

A2 fau M fasheul 7 9 Well I &1 784 Difvid -
1. ACDBE

2. AEBCD

3. ABCDE

4. ADBCE

Options :

920906111097. 1
920906111098. 2
920906111099. 3
920906111100. 4

Question Number : 76 Question Id : 92090628114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[dentify the correct sequence of 'Sandhi-s' according to Natyasastra:

A. Garbha

B. Mukha

C. Nirvahana

D. Pratimukha

E. Vimarsha
Choose the correct answer from the options given below :
1. BDAEC
2. ACDBE
3. CABDLE
4. ABCDE
Options :
920906111101. 1
920906111102. 2
920906111103. 3
920906111104. 4

Question Number : 76 Question Id : 92090628114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR & SHR il &1 Hgl 3IhH dad3u ;
T

Hg

e

ufaga
. famsf

1 fau e fasedi & 8 9El IR &1 9u- Sifed :
1. B.DAEC
2. ACDB.E
3. CABDE
4. ABCD.E
Options :

920906111101.
920906111102.
920906111103.
920906111104.

LA L L

A W N ==

Question Number : 77 Question Id : 92090628115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct sequence of the 'Dasavathara' of Lord Vishnu:
A. Matsya

B. Varaha

C. Kurma

D. Vamana

E. Narasimha

Choose the correct answer from the options given below :
A.CBED

AB,C.E.D

AEB,.C.D

AD,CBE

Options :

920906111105. 1
920906111106. 2
920906111107. 3
920906111108. 4

W 0 b

Question Number : 77 Question Id : 92090628115 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT W] & UEART & At SFHH B Jarzy
A T

B. dRXTg

c. gH

D. dTH4

E. RUE
9 fau e fashedl # 9 el IR &1 991 Sy
1. ACBED
2. ABCED
3. AEBCD
4  ADCBE
Options :
920906111105. 1
920906111106. 2

920906111107. 3
920906111108. 4

Question Number : 78 Question Id : 92090628116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct sequence of Directors of N.S.D. (National School of
Drama, New Delhi)

A. Ebrahim Alkazi

B. Satu-Sen

C. Anuradha Kapoor

D. BV. Karanth

E. Ramgopal Baja;

Choose the correct answer from the options given below :

1. EDBAC

2. BADEC

3. ABCDE

4. DA.CBE
Options :
920906111109. 1
920906111110. 2
920906111111. 3
920906111112. 4

Question Number : 78 Question Id : 92090628116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT e faeery & Fdxre! 1 4el %1 aargu
A SSSH eIl
B. HqH
C. U R
D. &l 9t $RY
E. T SGTol
T feu U faeed] # 9 Hel I &1 944 Difelg -
1. EDBAC
2. BADEC
3. ABCDE
4 DACBE
Options :
920906111109. 1
920906111110. 2
920906111111. 3
920906111112.4

Question Number : 79 Question Id : 92090628117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[dentify the correct sequence of the 'Avasthaas' of the plot, according to
Natyasastra

A. Praarambha

B. Phala-Praapti

C. Prayatna

D. Prapti-Sambhava
E. Niyataapti
Choose the correct answer from the options given below :
1. AB,.CDE

2, AEDCB

3. ACDEB

4. AD,C.BE
Options :
920906111113. 1
920906111114.2
920906111115. 3
920906111116. 4

Question Number : 79 Question Id : 92090628117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AR ¥ aftfd HUEE] BT a1 &1 &l 3 ggdi-u
A. URYH
B. Wd-UId
C. Ugd
D. UIia-|4d
E. oo
Hid fAu 10 fasseul § ¥ 9 IR &1 Ig Hifor ;
1. ABCD.E
2. AEDCB
3. ACDEB
4. ADCBE
Options :
920906111113 1
920906111114. 2
920906111115. 3
920906111116. 4

Question Number : 80 Question Id : 92090628118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I1
LIST 1 LIST II
[Veena I. [Percussion
Drums | Il. [Solid/Metal
Cymbals|IL1L. [Wind/hollow]
. [Flute IV.[String

1. A-1, B-11, C-III, D-IV

2. A-III, B-II, C-IV, D-1

3. A-IV, B-1, C-II, D-III

4, A-IV, B-II1, C-1, D-I1
Options :
920906111117. 1
920906111118. 2
920906111119. 3
920906111120. 4

o|ofx|>

Question Number : 80 Question Id : 92090628118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T | D1 1 fie Sifo

@ g
A dlom 1. 3fag dRI A
B. §H Il GlA/HI]
C. S 1. gR/arad
D. 9 1v. ot

1. A-l, B-lI, C-lll, D-IV

2. A-lll, B-II, C-1V, D-I

3. A-IV, B-l, C-1I, D-lil

4. A-IV, B-lll, C-I, DI

Options :

920906111117. 1
920906111118. 2
920906111119. 3
920906111120. 4

Question Number : 81 Question Id : 92090628119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 11
LIST 1 LIST II
Shiva I. |[Radha
Vishnu | II. [Saraswati
Brahma|IIl. |Lakshmi
. [Krishna|IV.|Parvati
1. A-1, B-1I, C-III, D-IV
2. A-II, B-III, C-I, D-IV
3. A.II, B-1, C-II, D-IV
4, A-IV, B-II1, C-11, D-1
Options :
920906111121.1
920906111122. 2
920906111123. 3
920906111124. 4

ojolw|>

Question Number : 81 Question Id : 92090628119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! | 31 1 e Sifee

g gl

A @ 1. e

B. famy 1. Tl
C. Si&m 1. wet
D. WM V. grddl
1. A-l, B-II, C-lll, D-IV
2. A-ll, B-lll, C-I, D-IV
3. A-lll, B-l, C-II, D-IV
4. A-IV, B-Ill, C-II, D-I

Options :

920906111121. 1
920906111122. 2
920906111123. 3
920906111124. 4

Question Number : 82 Question Id : 92090628120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mateh List T with List 11
LIST 1 [LIST 11

A. [Naseeruddin Shah | I. [Tabla Playen
B. |[C.V. Chandra Shekar| I1. [Singer

C. [T M. Krishna II1. [Actor

D. [Zakir Hussain IV.|Dancer

1. A-IV, B-1I, C-I, D-111
2. AL B-1V, C-11, D-I
3. A- B-1, C-III, D-IV
4. A-1, B-111, C-1V, D-II
Options :
920906111125. 1
920906111126. 2
920906111127. 3
920906111128. 4

Question Number : 82 Question Id : 92090628120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! | BT g 1 ¥ e sifo
Tl | LGl

A THIEEHAWE | dddidigd
B. Ul Al T2 1. MSE
C. A TAFOT . AT
D. R gEA V. Tdd
1. A-IV, B-ll, C-1, D-lll

2. A-lll, B-IV, C-Il, D-|

3. A-ll, B-I, C-lll, D-IV

4, A-l, B-lll, C-IV, D-Il

Options :

920906111125. 1

920906111126. 2

920906111127. 3

920906111128. 4

Question Number : 83 Question Id : 92090628121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mateh List T with List 11

LIST 1 LIST I1

A. |[Natyasastra I. [Dhananjaya
B. [Bhaavaprakasal Il. |Bharatamuni
C. |Dasarupaka I11.|Saradatanayal
D. |Gitagovinda IV. Jayadeva

1. A-II, B-III, C-I, D-IV
2. A-lL, B-1V, C-11, D-1I1
3. A B-1, C-1IV, D-11I
4. A-l, B-III, C-II, D-IV
Options :

920906111129. 1
920906111130. 2
920906111131. 3
920906111132. 4

Question Number : 83 Question Id : 92090628121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt | 1 11 Y aE S

T | Ll

A ARG | Y=oy

B. AU 1. HIaqH
C. 3IFEUS  |Il. RS
D. Tiamfde Iv. sUdd

1. A-ll, B-lll, C-I, D-IV

2. A-l, B-IV, C-1I, D-lll

3. A-ll, B-I, C-Iv, D-lll

4. A-l,B-lll, C-ll, D-IV

Options :

920906111129. 1
920906111130. 2
920906111131. 3
920906111132. 4

Question Number : 84 Question Id : 92090628122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statements [: The lead character in the film 'Gandhi' has been played by
the actor Ben Kingsley.

Statements I[I: Ben Kingsley is an actor of Indian origin.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both statement I and statement Il are true

2. Both statement I and statement II are false

3. Statement [ is true but statement I1 is false

4. Statement I is false but statement II is true

Options :

920906111133. 1
920906111134. 2
920906111135. 3
920906111136. 4

Question Number : 84 Question Id : 92090628122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R I FyA Ry mE:

®u | ;T fheq & g YT & favea grR1 Ay

HUA || : o bl YR ga &1 e g

SWRIE $YH & 3feiid #, 1 iU 7 firbedi § 9 I IugT IR &1 994
DIt

1. ®YF 13RI T W E

2. YA | SR 11 GHI Ted &

3. Y192 B, Afh YT 11 A 7

4. Y| TTCd, AfB HYF 11 9T B

Options :

920906111133. 1
920906111134. 2
920906111135. 3
920906111136. 4

Question Number : 85 Question Id : 92090628123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statements I: According to Bharata's Natya Shastra, the 'rasas' are eight
in number.

Statements I1: Shanta rasa has been included as the minth' rasa by
Paanini.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both statement | and statement Il are true
2. Both statement [ and statement IT are false
3. Statement | is true but statement 11 is false
4. Statement I is false but statement 11 is true
Options :

920906111137. 1
920906111138. 2
920906111139. 3
920906111140. 4

Question Number : 85 Question Id : 92090628123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A By RRuE

HYF | - HId & AR & SR I 318 UPR & ¢

HYA || : ™ B U §R19 § 39 & w9 § g fear mar gl

JURIR HUF & 3Tdrd |, A 30 70 fohedl 7 I 9ad Iugad I &1 999
I 10

1. SR NAT IS

2. ®YF SR I gHTTad @

3. Y1981 8, AP HYA 1 TTad &

4, YA | TTAd, AFT HUT I TR §

Options :

920906111137. 1
920906111138. 2
920906111139. 3
920906111140. 4

Question Number : 86 Question Id : 92090628124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



GGiven below are two statements:

Statements I: The famous Hollywood movie "The Psycho" has been
directed by Alfred Hitcheock.

Statements II: Alfred Hitcheock is considered to be the 'Master of
Suspense' 1in film-making.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both statement I and statement II are correct

2. Both statement [ and statement II are incorrect

3. Statement I is correct but statement 1l is incorrect
4. Statement I is incorrect but statement II is correct
Options :

920906111141. 1

920906111142. 2

920906111143.3

920906111144. 4

Question Number : 86 Question Id : 92090628124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRAFFERTTE:

®Y | - UG giciigs e 'S Iaa! &l sfahs fgadie A MERE fea g
HY || ; 3Ahs gadld Igddl (G hell & e FAeys F =4 d
EIEEIGIE!

IR HYF & 3Tdid H, i AU 7 fere el § 9 969 Iugerd I &1 994
HIforg;

1. ®YF | 3R 1 S el §

2. @Y | SR || gl TAd &

3. ®Y | Gl g, Afted HY 11 Td &

4. U | TTd, Afh BUT 11 TET B

Options :

920906111141. 1
920906111142.2
920906111143. 3
920906111144. 4

Question Number : 87 Question Id : 92090628125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statements I: Shobhana 1s a Bharatanatyam Dancer.

Statements II: Shobhana has also acted in films.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both statement I and statement II are correct

2. Both statement I and statement II are incorrect

3. Statement I is correct but statement Il is incorrect

4. Statement I is incorrect but statement I is correct

Options :

920906111145. 1
920906111146. 2
920906111147. 3
920906111148. 4

Question Number : 87 Question Id : 92090628125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR FYRUME

HY | TMHAT WA B JAFTE |

&Y || : YA A gga-Ht e & +f sifimm faar g1

SWRIFd HYA & 3Tl H, =g iU 1 forpedl § 9 999 Iugad IR &1 994
Hiforg;

1. @Y1 3R 11 S el §

2. YA | 3R Il 1 Ted §

3. &Y | 98l 8, dfchd U 1 Tad §

4. HYF | 7T, Al BU 11 TS &

Options :

920906111145. 1
920906111146. 2
920906111147. 3
920906111148. 4

Question Number : 88 Question Id : 92090628126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statements I: The play "Wild Duck' is written by Henrik Ibhsen.
Statements II: 'Nora', is a major character in the play "Wild Duck'.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both statement I and statement II are correct

2. Both statement I and statement Il are incorrect

3. Statement I is correct but statement Il is incorrect

4. Statement I is incorrect but statement 11 is correct

Options :

920906111149. 1
920906111150. 2
920906111151. 3
920906111152. 4

Question Number : 88 Question Id : 92090628126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR FERETEE !

HYF | ; AZ0E 3F' A eI 3064 gl fafad gl

HYF || : FIRT qIEeS SD' AICD DI UHHE UH ¢

SR HYF & 3fdid H, 9 AU 7 feddl § 9 999 Iuged I &1 999
HIfoL:

1. SR NT O E

2. HYA | R 1 g T @

3. P I TEI g, ABA FY 1 TTad §

4. U | TTad, AfhT SUT 11 WET B

Options :

920906111149. 1
920906111150. 2
920906111151. 3
920906111152. 4

Question Number : 89 Question Id : 92090628127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statements [: 'NSD' - a premier institute to train students in 'Kathak'
dance.
Statements [I: '"Kathak Kendra' - a premier institute to train students in
'Acting’.
In the light of the above statements, choose the most appropriate answer
from the options given below:
1. Both statement I and statement Il are correct
2. Both statement I and statement II are incorrect
3. Statement [ 1s correct but statement Il 1s incorrect
4. Statement I is incorrect but statement II is correct
Options :
920906111153. 1
920906111154.2
920906111155. 3
920906111156. 4

Question Number : 89 Question Id : 92090628127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRAFFFERTME:

HYA | - TP ATe [Feney S I & il & ufiaor 39 ue uHE SRiH
gl

HUF || D Ha i T faenffar S ufdiem 23 8 v wiE TRE 8
IR YA & 3Tdld |, A4 30 71U ferbedl # 4 968 IugER IR &1 999
Hifore:

1. @Y | 3R 11 EHT Hel §

2. @Y | SR | I Ted &

3. Y| 9E g, Al By 1| TTed §

4, YA | T, AP BT 1 el &

Options :

920906111153 1

920906111154. 2

920906111155.3

920906111156. 4

Question Number : 90 Question Id : 92090628128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a play, an actor speaking to himself/herself while alone on the stage is
called ?

1. Dialogue
2. Monologue
3. Soliloque
4. Mediation
Options :
920906111157. 1
920906111158. 2
920906111159. 3
920906111160. 4

Question Number : 90 Question Id : 92090628128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! e H 5" BIg U U 3fhd H WY U 91 $dl 6, a« Ul sifiraafad
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1. Hdg

2. UHEM

3. W (")
4, TR
Options :

920906111157. 1
920906111158. 2
920906111159. 3
920906111160. 4

Question Number : 91 Question Id : 92090628129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statements I; 'Duncan’ is a character in the play 'Macbeth'.

Statements II: "Macbeth' has been adapted as 'Barnam-vana' by B. V.
Karanth.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both statement I and statement Il are true

2. Both statement I and statement Il are false
3. Statement I is true but statement II is false

4. Statement I is false but statement II is true



Options :

920906111161. 1
920906111162. 2
920906111163. 3
920906111164. 4

Question Number : 91 Question Id : 92090628129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$YA | : Hhay' e H '35 UH UH |

YA || - &1, 9. HIY gRI AFHaY P '9UH g & =10 I 3fciiid g /™ g
IR Y & 3eid H, i AU 7 fae el § 9 969 Iuged I 61 994
HITIT;

1. SY IR ST IE

2. PYA | 3R |1 &1 TTad §

3. PYA | Uel g, b U 11 Tad &

4. ®YF | TTAd, AfH- HYA || el &

Options :

920906111161. 1
920906111162. 2
920906111163. 3
920906111164. 4

Question Number : 92 Question Id : 92090628130 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A serious drama that has an unhappy ending is called:

1. A Melodrama
2. A Comedy
3. A Farce
4. A Tragedy
Options :

920906111165. 1
920906111166. 2
920906111167. 3
920906111168. 4

Question Number : 92 Question Id : 92090628130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

forg TisfiR e 3iq 3iftra grar 8, I8 FEa &
1. g

2. BRGNS

3. B

4. FHd

Options :

920906111165. 1
920906111166. 2
920906111167. 3
920906111168. 4

Question Number : 93 Question Id : 92090628131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The spoken text of play - conversations between characters is:
1. Discussion
2. Debate

3. Dialogue
4. Argument
Options :
920906111169. 1
920906111170. 2
920906111171. 3
920906111172. 4

Question Number : 93 Question Id : 92090628131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fdt Ared ® Ui & A drdial gq sid oA aral fasd g1 g
1. famg

2. 94
3. Hdig
4 dd

Options :

920906111169. 1
920906111170. 2
920906111171. 3
920906111172. 4



Question Number : 94 Question Id : 92090628132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Characters in play 'Hayavadan' are:
A. Kapil

Devadatta

Dushyant

Padmini

. Hayavadan

Choose the correct answer from the options given below :
1. A.B,D.E Only

2. AB,C,.D Only

3. B.,C,D.E Only

4. C,D.E.A Only

Options :

920906111173. 1
920906111174. 2
920906111175. 3
920906111176. 4

™o oW

Question Number : 94 Question Id : 92090628132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
§gde Alcd | YIS &;

A &HiUd

B. ddad

C. ==

D. gfRFL

E. g4dad

< fau U faseul ¥ ¥ Ul IR &1 904 i ;
1. $ddABDE

2. $dd ABCD

3. $ddBCDE

4. HAACDEA

Options :

920906111173 1

920906111174. 2

920906111175. 3

920906111176. 4



Question Number : 95 Question Id : 92090628133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Gharanas in the Kathak dance are:
A. Jaipur
B. Kalakshetra
C. Manipur
D. Lucknow
E. Benaras
Choose the correct answer from the options given below :
1. AD.,E Only
2. B,C,D Only
3. C.A.B Only
4. D,B,A Only
Options :
920906111177. 1
920906111178. 2
920906111179. 3
920906111180. 4

Question Number : 95 Question Id : 92090628133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HAD Jd S WM &
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EG| P

HIOTgR

[NECEE))

. g4y

{7 fau MU fadeul § ¥ Wl IR &1 904 B ;
1. &ddAD,E

2. $ddB,CD

3. $ddCAB

4. &dd D,BA

Options :

920906111177. 1
920906111178. 2
920906111179. 3
920906111180. 4
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Question Number : 96 Question Id : 92090628134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which among the following writings belong to Rabindranath Tagore?
A. Mukta-Dhara

B. Post office
C. Chandalika
D. Adhe Adhure
E. Geetanjali
Choose the correct answer from the options given below :
1. AB,C,D, Only
2. AB,C,E Only
3. C,D,EA Only
4. B,C,D.A Only
Options :
920906111181. 1
920906111182. 2
920906111183. 3

920906111184. 4

Question Number : 96 Question Id : 92090628134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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= fau U fasseal @ O HEl IR &1 I8 Difod :
1. &HddABCD

2. $ddABCE

3. $dd CDEA

4. HddBCDA

Options :

920906111181. 1
920906111182. 2
920906111183. 3
920906111184. 4
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Question Number : 97 Question Id : 92090628135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following are the theatrical forms of North India ?
A. Nautanki

B. Ramleela

C. Burrakatha

D. Dimsa

E. Kathakali

Choose the correct answer from the options given below :
1. B, COnly

2. A, BOnly

3. C,D Only

4. E, B Only

Options :

920906111185. 1
920906111186. 2
920906111187. 3
920906111188. 4

Question Number : 97 Question Id : 92090628135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1 ¥ B9 I YRd & T (fuedl) @=u g 2
A, AEH!
B. HI
C. SRiwYl
D. f&uar
E. HYHl
{12 fau Tu fased] # ¥ Hel 3R &1 994 Hifeie -
1. &ddB,C
2. Hdd A, B
3. dddC,D
4. HddEB
Options :
920906111185. 1
920906111186. 2
920906111187. 3
920906111188. 4

Question Number : 98 Question Id : 92090628136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following universities offer Master courses in Theatre
Arts?
A. University of Hyderabad
B. Acharya Nagaarjuna University
C. Central University of HNB Garhwal
D. Pondicherry University
E. Central University of South Bihar
Choose the correct answer from the options given below :
1. B,C.D Only
2, C,D,E Only
3. ACDOnly
4. D,E.A Only
Options :
920906111189. 1
920906111190. 2
920906111191. 3
920906111192. 4

Question Number : 98 Question Id : 92090628136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. &dd CDE

3. dadACD
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Options :

920906111189. 1
920906111190. 2
920906111191. 3
920906111192. 4

Question Number : 99 Question Id : 92090628137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following are the "Tamil epics" ?
A. Shilappadigaaram

B. Ramayanam

C. Manimegalai

D. Valayaapathi

E. Mahabharatam

Choose the correct answer from the options given below :
1. B,E.D Only

2. C,D.E Only

3. B,D.,E Only

4. A,C,D Only
Options :
920906111193. 1
920906111194. 2
920906111195. 3
920906111196. 4

Question Number : 99 Question Id : 92090628137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. &ddBED
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Options :

920906111193 1

920906111194. 2

920906111195. 3

920906111196. 4

Question Number : 100 Question Id : 92090628138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following characters appear in the play "Urubhangam" ?
A. Duryodhan

B. Krishna

C. Dhritarashtra

D. Gandhari

E. Balaram

Choose the correct answer from the options given below :
1. AB,C,D Only

2. B,C,D.,E Only

3. ABD.,E Only

4. A,C,D,E Only

Options :

920906111197. 1
920906111198. 2
920906111199. 3
920906111200. 4

Question Number : 100 Question Id : 92090628138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
90 9 HHF-H UH ISHTH Aled § gMEiad 87
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1. $IAABCD
2. ®ddB,CDE
3. ®ddABDE
4, $ddACDE

Options :

920906111197. 1
920906111198. 2
920906111199. 3
920906111200. 4



